Kutatasmodszertan Olvasmany PotZH eredmények , 2011 dec. 15

Ponthatarok: 7,9,11,13

A csoport

ADOZYQ 9+0(+0) = 9 Kozepes (3)
ERLHY1 7+0(+0) = 7 Elégséges (2)
F1L6RO 15+0(+0) = 15 Jeles (5)
FOWUEH 10+0(+0) = 10 Kozepes (3)
GDNEQD 7+0(+0) = 7 Elégséges (2)
GYWK9H 9+40(+0) = 9 Kbdzepes (3)
J5CI9F 11+40(+0) = 11 J6 (4)
JMDMOI 15+0(+0) = 15 Jeles (5)
JP5554 11+0(+0) = 11 J6 (4)
LIX9QX 12+0(+0) = 12 16 (4)

LZV8H8 4+0(+0) = 4 Elégtelen (1)
QRBBWX 15+0(+0 15 Jeles (5)
R5LHHD 15+0(+0 15 Jeles (5)
T66Q4X 11+0(+0 11 J6 (4)
V7215X 10+0(+2 12 J6 (4)
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XG1I00 15+0 15 Jeles (5)
ZKO5C5 4+0( = 4 Elégtelen (1)

C csoport

CON8AJ 15+0(+0) = 15 Jeles (5)
DOW1IXL 14+0(+0) = 14 Jeles (5)
DBKJEC 14+40(+0) = 14 Jeles (5)
DLQAR7 13+0(+0) = 13 Jeles (5)
HMMLDX 10+0(+0) = 10 Kdzepes (3)
II4V1I 14+0(+0) = 14 Jeles (5)
L7YGDP 13+0(+0) = 13 Jeles (5)
LQP57T 15+0(+0) = 15 Jeles (5)
M8Z0I5 13+0(+0) = 13 Jeles (5)
Q53Q0G 14+0(+0) = 14 Jeles (5)
QD1356 13+0(+0) = 13 Jeles (5)
T4RZ1R 14+0(+0) = 14 Jeles (5)
TTCMPJ 13+0(+0) = 13 Jeles (5)
XXXXXX 1140(+0) = 11 36 (4)
YMCI7U 15+0(+0) = 15 Jeles (5)
YZI74C 13+0(+0) = 13 Jeles (5)



